oy 481

» 1444 2JE Gy IV Jadl Sl o

| d\}.J\
limi K —/1 * dx—11n2 1
n-too £ n2+k2 J, 1+22 277
2n 2n 1
. 1 1 . 1 dx
.ngglmzn+j_%”grf“;%+2i_/ Iy In3 .2
12 J\}J\

.

&.')JLO..A L}AK:\H ‘Jl ~SJJJ$- Sin( )sm( ) dj\_ﬂ\ 0)\)4
/ sin(x)dx
0

<240 lzls uals sin(2) W) +oo Ll

+oo p
vyl / sin(z) Sin(;)dl’ SN 13
0

3
x4
li 2
et (L [nal)
+oo d

<8
Va(l+|Inz|) ol

13 JIs

= —1oba e (~2,0) 55 13 .1
. hm fulx )—1C)Léx€R\[—2 0] 0K 13
n—+00

R\ {2} 5o (fu)n Wl o) Oyl Jlt 13



J[a, 0] ",x;‘:;igc:gt;:‘urm%w\apaﬂog 13 .2
J[b,a) 55 gidca;wru»%uﬂ\ OB a < —1 06 13 NS
ﬁ‘gcul::‘urum%u;uop—2<a,b<ool§\sl
: 4 JIs
~Jnoa(l—nz) if 0<z<i
.aE]R,fn(x)—{ 0 i %nglﬂ
0,1 3731 e 0 8 com (fo) el izl oybilly ol oyl (o)
[0, 1] 5400 Je dapmy oyl % sl Wbl
dim f,(n7%) = —o0 ﬁjcxeR+ﬁcnl_i>ri1mfn(:v):0ca<—1 oK 13 e

n—+oo
J0,1] a5 e Ladame Ll ol 13
i o) ol 3L >0 Koe lim fo(z) = —a? ca= —1 06 13)

n——+o0o

x>0 K¢ lim f(r) = —o0 «x > =1 0K 15] @

n—-+o0o



